
Soustraction Avec Un Zéro (D)Calculez la différence.
40 50 60 60- 31 - 33 - 14 - 56
80 80 60 50- 65 - 6 - 41 - 6
40 90 60 30- 15 - 64 - 40 - 26
60 60 40 50- 44 - 43 - 11 - 44
30 50 60 20- 27 - 25 - 17 - 3
40 10 30 10- 40 - 1 - 11 - 7
10 20 90 80- 8 - 15 - 85 - 5
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Soustraction Avec Un Zéro (D) RéponsesCalculez la différence.
40 50 60 60- 31 - 33 - 14 - 569 17 46 480 80 60 50- 65 - 6 - 41 - 615 74 19 4440 90 60 30- 15 - 64 - 40 - 2625 26 20 460 60 40 50- 44 - 43 - 11 - 4416 17 29 630 50 60 20- 27 - 25 - 17 - 33 25 43 1740 10 30 10- 40 - 1 - 11 - 70 9 19 310 20 90 80- 8 - 15 - 85 - 52 5 5 75
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